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HiZH # H HRs P =%
1 |®H6F4820H + AM - PM#& 1 [g] REY —EXt > & —RIMWEAT
2 |SH6E4A21H H AM - PM%& 1 5] REY—EXE> 42—
3 |$F6&E4830H X AM D FREY—ERE 2 —
4 |%F165E5818H + AM - PM%& 1 5] REY — 24> & — AKX
5 |4H6E5826H H AM - PM%& 1 5] REY—EXE> 42—
6 |[SF6E5H27H A AM D FREY—ERE 2 —
7 |M6E689H = AM - PM%& 1 [5] REY—EXE> 2 —
8 |&F6&E6H10H A AM @ FREY—EREr 2 —
9 |$M6E6715H + AM - PM%& 1 [5] RIEY — X+t > & — KW
10 |SF6E7A6H + AM - PM%& 1 5] REY — Rt X —ARIBEAT
11 |$f6&£7812H & AM D & REY—ERXE> 2 —
12 |SM6E7H21H H AM - PM%& 1 5] REY—EXE> X —
13 |f6E8A9H & AM D REY—EXE> 42—
14 |©f65£8718H H AM - PM%& 1 5] REY—EXE> &2 —
15 |$f6E8724H + AM - PM%& 1 5] REY — 24> 2 — AKX
16 |SH6E9IR/TH + AM - PM%& 1 [A] R — Rt v X —AIBEAT
17 |$/65£9729H H AM - PM%& 1 5] REY—EXE> &2 —
18 |$#16E9H30H H AM @ A REY—EXt X —
19 |$f6£1085H + AM - PM%& 1 [5] REY — £ 2t X —ARIBEA
20 |©F6E10A11H & AM D Ry —c x> 82—
21 |©f6E10813H = AM - PM%& 1 [5] REY—EXE> 2 —
22 |SF65£E1188H = AM D FREY—EREr 2 —
23 |©M6E11/16H + AM - PM%& 1 5] REY — X+t > & — KW
24 |&F6E11/24H H AM - PM%& 1 8] REY—E Xt & —
25 |57H6&E1288H H AM - PM%& 1 5] REY—EXE> &2 —
26 |SF6&E1289H A AM @ REY—ERtEr2—
27 |©M6E12814H + AM - PM%& 1 [5] R — 2t X —AIBEAT
28 |SHT7E1A12H H AM - PM%& 1 5] REY—EXE> &2 —
29 |4HT7E1A18H + AM - PM%& 1 5] e R  E B~ | -z i
30 |[$F7E1827H A AM D REY—EXE>2—
31 |[$H7E289H H AM - PM%& 1 5] REY—EXE> X —
32 |$HMT7E2R814H & AM D REY—ERE> 42—
33 |[$#7E2R815H + AM - PM%& 1 5] REY — 24> 2 — NPT
34 |SH7TE3AH H AM - PM%& 1 5] REY—EXE> X —
35 |[4#7E3810H A AM D REY—ERE> &2 —
36 |[SF7E3A15H + AM - PM%& 1 5] REY — B 24> 2 — AP

¥+ HAM : 10 : 00~12 : 00,
¥XEH:9:30~11:30

PM:13:15~15:15
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